B4 m P AL

AN AL G F 2 (B %A

MLFES |5 692 = FHFRA, (HBrE fk AR

AFALEEE |58 342 8 H31H  A-RiTLOMF15%y

BBt R 2P 2 B 897 — L R 0 22 ek I 8 8T L5

MATEET (FKH = RER Hh

FETH [oF038E12H 3 £T

WS |HERE

Ve FL oA 4,378,000 1| Db 3,080,000 [
T EAMHE 4,503,400 | Heize4m 4,094,000

R EEA F1EAFLEA | SB2BAALER | (FEEERA) 2

T A AR TR 1020000

=2E 4,000,00?)

S 3,980,00?) o

J\ % B FE A% 4,090,00?)

Wi TR T 2T 1050000

(== R 4,080,00F3

AR AL Al A S YRR A A%

(B ) 3,693,000 1




B4 m P AL

AN AL G F 2 (B %A

MLFES |5 708 FEERY ERKR

AFALEEE |58 342 8 H31H  A-RiTLOMF25%)

A fR0MHE L

/K5 M 5 N e ol AV

FETH |[oFn 3810290 FT

wALZES | ERTERRE)

L e 2,288,000 | Zisiy 2,080,000 F1
P IE A% 2,329,800 I | b4 2,118,000 1]
R T A BIEAFLEE | 2 AFLEE | FEERK) R

(/e P 2,110,00?)

(BT Al =} ek 2,100,00?)

TR ) 2,080,00?) o

Vi1 1EER% ) 2,110,00?)

V)P A R 2,110,00?)

A 2 3 (R 2,110,00P3

AEC AL e A i YAt s

(B ) 1,818,000 H




i 4 B oF A AL
AL R 2 (185 )
AFLFS [ 720 & YA [ FAGE THEH
AFLHEE |45F0 34E 8A3LA  “FRIL0RE3S >
w4 B 5 i 156 588 BE U B THI IS T /Kl fa sk S P in L5
AT (KT R HIN
TRELTH [SF3FE1I1A12A £T
WHLEE |7V
VL& 3,894,000 M| Zdlit 3,540,000 I
T EAMHE 4,057,900 [ | Heizesm 3,689,000 M
R EEA F1EAFLEA | SB2BAALER | (FEEERA) 2
7y 3,540,00?) o
HEREHER =ILE 3,640,00?)
RS s 670,000
= — 3,610,00?)
KB T30 3,600,00?)
5 L T 2 650,000
T T2 s 650,000
N A 3,590,00?)
ZE T EE RN 3,640,00P;




AN AL G F 2 (B %A

B4 m P AL

MNLEE |F MY ERG
AFALHEBEE |58 342 8 H31H AR L0455y
KFH185-YH 25 fiti it HUK A 7 R L
s £
fATS T Bk £E HIN
FETH |[oFn 38E12H15A FT
BALZEE | /KB 340K
O 3,135,000 1| Zofoih 2,850,000 [1]
T EALFS 3,254,900 M | Lt#k4%E 2,959,000 M
a4 EH4 F1MAFLEE | B2 AFLEE CipsE49)) i
M
TV 2,910,000
e = Pq
1%)?%%(**) EE'EIJ—IBIZJE 2,910,000
M
ARSIl 2 850,000
=
Ry = — 2,870,000
— B TR
7K T30 2,850,000
A5
A T 0N o
\ =
e M
(*%‘\JVV&T&/ 2,880,000
g
ZER TR 2,870,000
I AKL AT R AT A
M B 1) 2,673,000 H




AN AL G F 2 (B %A

B4 m P AL

MLES |5 659 =

IR At

AFALHEBEE |58 342 8 H31H 4RI LOMFEE54y

AR DA BT IR S IR =2 TR XS R (£ 0D3) 65 %Rt

MATERT (KT BCEEET i

FETH [oF038E11H30R FT

WAL |FIRa A2V ks

VL &R 1,901,900 | Zifals 1,729,000
T MR 2,717,000 FJ | Fbi&%H 2,470,000 M
fes 4 F1EIAFLEE | F2lAfLEE | FEEZRA) G

F APV RS 1,729,00?) o

Jeta PV HKSE 2,350,00?)

T SRS 2,380,00?)

fREE R YL H s BKR)E 2,450,00?)

&2 0 = 2 L SIS & A 2,450,00?)

(R E 2,450,002

Bz 2 SRS 1,736,00?)

JepEa YL Z N KR T 7




AN AL G F 2 (B %A

B4 m P AL

MNLES |5 716 &

LR |BREER

AALHBEE |5F0 342 831 H  A-RiL1IF 545

H B HL R IR AL i A REAT SE s &Rt

Mt |k EesE N

FETH [SFfn48E3H18A £T

AL | =X AR LRSS

AL 4 264,000 [ | Zfbik 240,000
T EAMHE 572,000 M | MedzesE 520,000
R EEA F1EAFLEA | SB2BAALER | (FEEERA) 2

T AT 520,00?)

e AT T e — 5 20,000

ot AT LB )10.000 i

B B S — 100,000

LR 520,00?)

A IR 15,000

RIS A 5 — 1L 20,000

EA T LT .
(HE P FERX)




AN AL G F 2 (B %A

& 4

B A AL

MLES |5H 697 = HEERA (PR R
AFLARE | 5F0 34 831 H Hl1LIKF15%)
T PN B « SRR A
MEATHET SRS NFRL Hi
TETH |S34EITA30R T
WALZER B SCE JHKEZERT
LA 4,515,500 1| Zfli 4,105,000 T
T EAMHE HRF Rt 1 o HRFE
fadh S H 4 F1EAALEE | B2l AL | FEEZRK) V=22
(S 2 BT P 170000
LIRS 4,126,80?)
BT BT 105,000 i
WIRAR HKSOE 4,239,00?)
EATLH LIV .
(HZ B SF R E)




onom e AR
A AL RS R FR (B % M)
MLUES |5 698 5 AL [FREE R
AFLHER  [5F0 34 8 H31H  “FRl11IEF255)
T o e BR R
MEAT5ET SR TNZ R
TETH |S34EITA30R T
WALZER B SCE JHKEZERT
LA 1,911,800 M| Zfoih 1,738,000 [
T EAMHE HRF Rt 1 o AR
fadh S H 4 F1EAALEE | B2l AL | FEEZRK) V=22
(S 2 BT P 761,000
WA 1,767,78?)
BT BT 735,000 i
A A 187100
EATLH LIV .
(HZ B SF R E)




AN AL G F 2 (B %A

& 4

B A AL

ALES |5 705 B H A | b SR

AALBEF [4F0 348 8A31H AaiT11KE354y

. 5 |[PORERTKES IS

SafTHRAT (ST A5 H G AT E) M

TETH |5F3FE11H30 £T

WAL | RPERH G

VL&A 2,831,050 M| Zdli 2,574,500 [1]
P Jenk | ke e

Y FLE LA | B2 AL | (BaER) R

AR A 854,600

7 REA P AL K
AR AT ) 574500 i
W=vms M 565,000

TEA T e Il "
PP i)




iR 4 B F AL
AR A R E(HE M)
MLFEH |5 702 5 FHYERA (MR B - SO AR
AFLARE | 55F0 345 8H3LH  “FRITLLIE455)
w4 LRI =T X —F B
MEATSET (KT B3R HIN
TELH [ 34E11H300 £T
WAL [ KilieYxr~<s oM BKE T
LA 2,175,800 | it 1,978,000 [
FrE filik T B & o HNFE
R4 FIMAFLE | H2lAFLE | (FEESRK) AL F
KIS 35 kT 675,000 o
5 B 2 550,000
IUNE BRI 2 200,000
Bk = S T L 090,000
s 2 AR KPS 2 500,000
TR 2,584,00P3
BB SCE Ak 2 995 000
(B)7 4L AR A—2 TS5 =27 & B
K R AT 2,433,310
EA T LT .
(HEBERX)




